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h«nd is at 2 and the minute hanr? nt a . ,« i,^
".inutes will .h.y be together r40-,w;„',,;LA:s.'"'''"'
2 A farmer sold a cow at a ^aii) of 30 ner ce^nt if u^

ad sold her for $^ less he wo'uld hve gained o^l 'oPCT cent How much did he get for the cow ? 1^2-

3 Of two kinds of flour the first is worth 50cents rerbrl more than the second, and llbrls. of the first areworth as n.uch as ]2l,rls. of the second; find the priceof the first kmd per barrel. $6—Ans.
^

S.rtl.^S''-'r
"'"''' '^^' ^'^'"^"^^ '''^'' ^ person buy BankStock which pays a half-yearly dividend of 2^ per cTnt

6 A man receives $1.00 for every day he works andforfeits 50cts. every day he is idle, 'ne'earnsS in 53da/s
;
how many days did he work ? 40days- Ans.

In t.t '""^f^
"^'- ^'"«- ^o"S' -^ft- Cms. wide and 3ft. high

cubic feet-Ans"' '
'"' '" "-^^""^^ ^^ ^'^ ^^^ ^H

I'ifth Class -15

n.? '^.''"r'^
.^

*'"^^' ^"^"^ P'-^i-tnership. A contributes 60per cent of the joint capital for 8mos., and B rece ves30 per cent ot the gain; how many months was B'scapital in the investment ? 5|months—Ans.

nfrt^u'^'''rn''^
^''"^''^ ^ quantity of tea for $34.40 •

after selling Gibs, at cost, he sold 30 per cent of the remainder for $]0.r)n a<i\r^\,..r in rJ- r-..i \
poumis did he'buy ?^ SelTouSdJ-in".

'

' '"'. """^

3 The hour hand of a dock moves 20 per cent toofast and the minute hand moves 20 per cent too slow


